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Even if he did not write but only one line 7»w? in the v3, etc.

OVERVIEW
The idea that the 9910 need write only one line 7nWw? is a bit puzzling.'

$NYY 1D NNNDNT NIHIYNRI NVIY NIN TN XDV V179
The interpretation of the phrase 11’8 21 7R NAR 7YY XX 12 203 K7 197K
"%, does not mean that the 1910 does not have to write more than one line
nnw?, but rather if the 5w did not observe? any more that the first® line®,
written nnwY, it is sufficient, for it is assumed that the 1910 completed the
remainder of the v also faw™.

SUMMARY
It is sufficient for the 75w to see how the 7910 begins writing the 7aw? va. It
is not necessary for him to see the entire writing w5,

THINKING IT OVER
Is it necessary that the 7w see the first line written 72w?; or is it sufficient
that the 7w see the first line written 72w5?°

! The 1910 must write the entire 7w 7710, which includes 2171 AWRM WK oW and the phrase nanm nX '
a7R 25%. This would seemingly require more that one line. In addition there is an opinion (2,15 11p%) that
even the 091, or text of the vA, must also be written 7aW>.

2 We are not discussing what the 7910 must write but rather what the M@ must observe

3 mpon is teaching us that 'NnX 7v°w', does not mean ‘one line’, but rather ‘the first line’.

4 (7op MR 10) AT oY N7 interprets this to mean, that even if it is not the Amn but only the oo, it is
sufficient.

5 See 10 MIX 7">0.
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